COMPREHENSIVE SERVICES APEX WAVES

We offer competitive repair and calibration services, as well as easily
accessible documentation and free downloadable resources.

Bridging the gap between the
SELL YOUR SURPLUS manufacturer and your legacy

v ) test system.
We buy new, used, decommissioned, and surplus parts from every NI series.

We work out the best solution to suit your individual needs.

Sell For Cash Get Credit Receive a Trade-In Deal
O 1-800-915-6216

@ www.apexwaves.com

OBSOLETE NI HARDWARE IN STOCK & READY TO SHIP

We stock New, New Surplus, Refurbished, and Reconditioned NI Hardware.

9 sales@apexwaves.com

Alltrademarks, brands, and brand names are the property of their respective owners.

Request a Quote =cucxuxe GPIB-SCSI-A


https://www.apexwaves.com/modular-systems/national-instruments/gpib-instrument-control-modules/GPIB-SCSI-A?aw_referrer=pdf
https://www.apexwaves.com/modular-systems/national-instruments/gpib-instrument-control-modules/GPIB-SCSI-A?aw_referrer=pdf
https://www.apexwaves.com/modular-systems/national-instruments/gpib-instrument-control-modules/GPIB-SCSI-A?aw_referrer=pdf

INSTRUMENTS

The Sofiware is the Instrument ®

VNATIONAL Installation Guide

Dual Rack-Mount Kit for GPIB-SCSI-A

This guide describes how to install the rack-mount hardware for two GPIB-SCSI-A controllers.
In addition to the rack-mount kit contents, you will also need a long-handled small Phillips-head
screwdriver, a small flathead screwdriver, and a 1/4 in. crescent wrench or nutdriver.

What Your Kit Should Contain

Item Component Part Number | Quantity
A Chassis Rack Mount 181886-01 1
B Panel, Front, Rack Mount 181885-02 1
C Handle, Rack Mount 745364-01 2
D Z Bracket 745157-01 4
E #4 Lock Washer 740407-01 9
F 4-40 Hex Nut 740010-01 5
G 4-40 x .25 Flathead Screw 740923-01 4
H 4-40 x .5 Phillips Screw 740901-01 4

Product and company names are trademarks or trade names of their respective companies.

320799A-01 © Copyright 1994 National Instruments Corporation. All rights reserved. September 1994



Installation Procedure

Refer to the illustration on the following page as you read these installation instructions.

1.

Align chassis and front panel (Items A and B) so embedded screw on front panel protrudes
through chassis center bracket. Using a crescent wrench or nutdriver, attach a lock washer
and a hex nut (Items E and F) to embedded screw and tighten securely.

Insert Phillips screws (Item H) through lock washers (Item E), chassis front side brackets
(Item A), and front panel (Item B). Attach rack mount handles (Item C) and tighten Phillips
screws so handles are secure.

Attach Z brackets (Item D) to rear of chassis using flathead screws (Item G), lock washers,
and hex nuts (Items E and F).

Note: Do not tighten. Z brackets should be able to swivel at this stage.

Place GPIB boxes into chassis with front panel of boxes showing through chassis front panel.
To secure each box onto chassis:

a. Swivel Z bracket out of the way of the box so the box will lay flat on the chassis.

b. Swivel Z brackets over the lip of the rear panel bevel.

c. Tighten the hex nut at the Z bracket to securely hold the box in place.



ARZE

Z 777 Z P

Vv V130 338




	Dual Rack-Mount Kit for GPIB-SCSI-A 
	What Your Kit Should Contain
	Installation Procedure
	Figure

